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1.

AT U B HRAT AR 7

Attempt all the Question

g% BB 01 H 10 3 FEiRd 2 | & $Ia@Us & | @Us " ¥ 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U G 02 | U HHIP 09 IF AT TSI U B | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 09 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
T D 10 H T HHAID 15 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 10 to 15 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 16 H U HAIG 21 dh dgSwid U & | AP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 16 to 21 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.
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U HIdG 22 § U HHIG 25 AP QUSRI U 2 | YD U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 22 to 25 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.
U9 HHIP 26 W UL HHID 27 Adb QIUSad U9 § | YD g H
3ffaRe® fadmed 2 3R I U WR 06 3id MEfed © | Sk &I 3ffdrehaH
oeq AT 150 e |

Q. No. 26 to 27 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.
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(@)

(i)

(iii)

@iv)

™)

Choose correct alternatives :-

fordl 291 W 3T I BT IoHfdd REFT BEAar & —

(a) AT (b) HETHATR

() SRAI] (@ SulrEeER

The political control of a country by other country is called.
(@)  Nationalism (b)  Imperialism

(c)  Liberalism (d)

el fEar ifdfr @y gam —

(a) 26 IR 2006 (b) 26 3aCER 2001
(¢) 17 STHENI 2009 (d) 16 AR 2005
Home Violance Act implimented on -.

(@) 26 October 2006 (b) 26 October 2001
(c) 17 January 2009 (d) 16 September 2005
fhefl o= a1 RS FU | HI—AHT FEerr 8 —
(@ SEEN (b)  FTH W

() Y<ER (d) T

[llegallyt buy and sell of any thing is called-.

(a) Hoarding (b)  Black Marketing
(c)  Corruption (d)  Smuggling

Y 2001 H 9IRA H SHEI] g9 Ui O B AL o
(a) 925 Ffdd (b) 425 Ffdd

(c) 324 Hfdq (d) 933 fda

In 2001 the density of India's population in persons was-.
(a) 925 persons (b) 425 persons

(¢) 324 persons (d) 933 persons

e e gfae fafics § -

(1x5)



C)

(@)

(b)

(c)

()

(e)

YR 2—

YR 3—

YR 4—

YR 5—

YR 6—
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(a) ¥R H (b) UoE H
(c) BRamom H (d) ToRE H
Anand Milk Union Limited is in -

(a)  Mabharastra (b)  Punjab

(c)  Haryana (d)  Gujrat

TE WIS 18Y (1x5)
Match the following :-

IR T — 2004

International court - 2004

MATSTell & oRgdh - AeRelvs

Gitanjali's writer - Neather land

B, Ted ufomy . —  Rfdws SR

C.G. Anti Dowry act - Rabindranath Tagore

i fAprT ard @ — 2000

Interfering factor in

ecomonic progress - 2000

ST it - fdren

Population policy - illiteracy

SUHIGIT g9 BT G IRy | ()
Write the formula of consumer surplus.

HoH GARATIAT ¥ 3T 9T FH8d © 2 )
What do you mean by Meji Restoration ?

ATeT | MY T FHSA © P @)
What do you mean by NATO ?

S IR IoTagl & 9 foIlRey Reie swindTe | I foar ? (4x4)
Write the name of main dynasties those ruled over Chhattisgarh

AT IR BT 32 gy | )
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YR 8—

YR 9—

YR 10—

YR 11—

YR 12—

YR 13—

YR 14—

YR 15—

YR 16—

URA 17—
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Write the meaning of women empowerment.

o fawre & <1 o foRay | (1+1)
Write two advantages of labour division.
DTG H alerd dlbged &1 4/ iRy | (Pl IR) (Vax4)

Write the name of popular folk dances of Chhattisgarh any four.
o faerTe & 3T 1 A8 © ¢ S9&! MU ®F dxar g (14+1)
What do you mean by financial bill ? Who decides it ?

EfRUSTdT &I T HT = Ig<eT FT © 2 (1x3)
What is main aim of non-alignment policy ?

IRBR geoT o1 e foRkay | (3)
What is write ?

s favror= | 9 st faRae | (1x3)
Write three disadvantages of labour division ?

BRNTe & aTfie ReIfd &1 auiq BT | (3)

Describe the religious position of Chhattisgarh.

fRIET &7 3Ta SRR gig BT U U HRUT & | 99sgd | (3)
The main cause of groeth of population is the lack of education. Explain.
SUHIGT BT F2d DI JATY- H 37 dTell A9 BfoAS A &l AHsmsd | (1x3)
Explain three difficulties in measuring the consumer surplus.
fada fovg gg # ¥ W™ & ®’T SR I ? (@13 IR) (1x4)
What was the reason of deofeat of Germany in World war-1I ?

“dYAr’ OR
Tel §9cl ®I TSl BT Sl DINTY | @)
Describe the incidence of Pearl Herbal.
TR ® gRETST Ta TRE & BRI B foIlRgw | (143)
Define poverty and write its three reasons.

“dYAr’ OR
IRISHTRY BT 31f T RIS | S0 <9 Sqaameti &l filRaw | (143)
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YR 19—
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YR 22—
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Write meaning of umemployment and three problems arose by it.
gRa Pifd fhd ®wed € ? 3RT wifd & 09 gRomAl & aw=mgy | (143)
What is green revolution ? explain three result of it.
“gAar’ OR
Fhaa] A 3T T THASI & ? Ahaal 8 darel i ol b foRau ((143)

What do you mean by Chuckbandi ? Write its three advantages.

TR H 9 ST AR g T ST H IR 3R forRay |
Write difference between cotton industry and Iron and steel industry.
“JYAr’ OR
DY R ITRA I Ud WS R ARMRT SN B Pl IR fd=gail
H gor BT | (1x4)

Compare the industry based on agriculture and mineral.

TRRN iR 31fheT #_IEy § Iofde JAWFRY & @I SR o ?

ALY | (1x4)

Explain the reason of political renaissance of Asia and Africa continent.
“YAr’ OR

faeq 2rifd &1 RUAT g FYaT T T & IqavT Dol db Fedd © ?

How the porpose of UND helps to establish the world peace ? (4)
ARG fAdRT § 9ed IR BRI B R BT | (1x4)
Explain four factors that protest social development.

“gAr’ OR

IR & fdpr™T gq fbU S arel =R U Bl W DI | (1x4)
Explain four ideas for the improvement of women.
S URRCAT BT Scoid BIFTY S HROT TRET TT BidT
AHIIATE BT {dbTd gafl | (1x53)
Describe the condition by which imperialism rose in Asia and Africa.

“3Ar’ OR
AT Hifd | AHISTD Ua 3l Sitad UR e dlel JHTdl 6l Iooid
DITY | (1x5)
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YR 23—

YR 24—

YR 25—

Describe the effects of social and economical lives due to industrial revolution.
Iafd & AfRTAT BT Sl DHIVTT | (1x5)
Describe the condition by which imperialism rose in Asia and Africa.

“3Er’ OR
TR UTfeTdT 31ETeT B HIT—hIF H BT B BId 8 ¢ T BINTY [(1x5)

Explain the work of the chairperson of municipal council.

SOl @ T A BTSSR0 Afed FHSsY | (1x5)
Explain with example the new resources of energy.

“gAar’ OR
SOl FEEH R Uh o fIlRaw | (1x5)
Write an essay on energy resource.
TRA & AT § 4 3 3ifed difvg — (1x5)

2Fs

virendra



YR 26—

YR 27—
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(i 9 'S, (ii) 82), Yd QuNcR,  (ifi) Ty AT
(iv) AR A (v)  HagsT yad
Show the following in the Map of India.

(i)  Bombay Hagh, (i1)) 82 'seastlongitude

(i11) Kaveririver (iv)  Sambhar Lake (v)  Satpudahill
“IAr’ OR

() SR, (i) e S 9, (i) foewr s

(iv) PR AL SeTH (V) DD G | (1x5)

(1) Bailadila (i1)  Bhakhara Nangal Dam (i11)  ChilfaLake

(iv)  Kanjiranga National Park  (v)  Line of Cancer

BT ! faerdrel & fokay | (1x6)
Write the cahrateristics of Fascism.

“JYAr’ OR
fadi fawa g€ & BRI & GAS=Y | (1x6)

Explain the reasons of World war-I1.

P ARA B ATH & U ARAIY 3ffaell DI R T A STl 57
BREIER (1+5)
Agriculture is the soul of India why it is treated as a base of Indian economy.
Explain.

“dgAr’ OR
9 DI M BT 3P & AT 1l & | fad==m iy | (1+5)

Forest is a precious wealth of a nation. Discuss.



